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Lwdwdwju npp'

Quithwpwdht 1: Fudwu wnwplw § hwunhuwuntd pphudh dGnppbpnidp.

<pwybiph <pwytiph Uuhwdwuww-
wwhwugubiphu wwhwugubphu nwufuwunijwu
<h Uwulwlgh wijuinup hwiwwwwnwu- shwiwwwwnwu- hwdwnnwn
fuwunn hwywnbp fuwunn hwjwnbip uywpwagpnipjniu
1 U/ Guwywub Ubkpntywt X
Uwuuwlygh wnwownlwd
Uwutwyhgutiph

Uwutw wudwuntd Lunndwé dwutw U (wnwug UUZ, hwg.

qpwnbignws wbnbnp lgh wtiywtnwip nu lhg ght ( r}n?u 0 q

1 W/ Qwyuub Ukjpnujwi X 74,85

Cunpqwsd dwuuwlyght npnobint Yhpwnqws swihwuh?' ajuqugni ghtt wnwowipwé dwutiwlhg:

Quithwpwdht 2: Fudwt wnwplyw b hwunhuwund ninnh dknppbpnudp.

<pwybph <pwytiph Uuhwdwww-
wwhwugubiphu wwhuwugubiphu wufuwuntjwu
</ Uutulgh wiiuitnudp hwiwwwwnwu- shwiwwywwnwu- hwdwnnwn
juwunn hwjinbip fuwunn hwjwnbip uywpwgpniniu
1 W3 Guywubk Ukjpnujwt X
Uwutwygh wnwownljws
Uwuuwlyhgubtipp

Uwutw wudwuntd Lunndwé dwutw U (wnwug UUZ, hwg.

qpwnbignws wnbnbnp lgh wtiywtnwip nu lhg ght ( rm?u 0 q

1 U/ Quywub Ubkjpnujwi X 65,88

Cunpdwsd dwutuwlyght npnobint Yhpwnqws swihwuhy' ajuquigniu ghtt wnwowipwé dwutiwlhg:

Quithwpwdht 3: Fudwu wnwpyw £ hwunhuwunid nuwh dknppbpnidp.

<pwybiph <pwytiph Uuhwdwuww-
wwhwugubiphu wwhuwugubiphu mwufuwuntjwu
<h Uwutulgh wijuinup hwlwwwwnwu- shwlwwwwnwu- hwdwnnwun
juwunn hwjnbip fuwunn hwjwnkip uywpwgpnigniu
1 U/ Quyuub Ubkpnujwt X
Uwutwygh wnwownljwsd
Ywutuihgutinh Uwutiwlgh wigwunwp Cunnywd dwubwlhg ght (wnwiug UUS, hwg.

qpunbignws wbinbipp

npwd)

1

U/ Guywuk Ubkpnujw

X

95,88

Cunpwé dwutwlghtu npnptint Yhpwnws swihwuhy' uuqugnyu ghtt wnwowplwé Jwutwlhg:




Qwihwpwdht 4: Fudwt wnwplyw £ hwunhuwunud hunwéwywnh dnppbpnudp.

<pwybiph <pwytiph Uuhwdwww-
wwhwugubiphu wwhuwugubiphu nwufuwuntjwu
<h Uwulwlgh wijuinudp hwiwwwwnwu- shwiwwywwnwu- hwdwnnwun
fuwtnn hwyjwnbp juwunn hwjwnbip uwpwagpnipjniu
1 W/ Guywub Ubkpnujwu X
Uwuuwlygh wnwownlwd
Uwutiwlhgutinh Uwutiwlgh wbywunwp Cuwnnywd dwubiwlhg ght (wnwitg UUZ, hwg.

qpwnbignwsd wbinkipp

npwd)

1

U/ Guywub Ubpnujui

X

53,88

Cunpqwsd dwuuwlyght npnotiint Yhpwnqws swihwuhy' ujuqugni ghtt wnwowiplud dwutwlhg:

Quihwpwdhu 5: Fudwu wnwplw £ hwunhuwunw hwéwpwédwywph dhnppbipnidp.

<pwybiph <pwytiph Uuhwdwuww-
wwhwugubiphu wwhwugubiphu mwufuwuntjwu
< Uwutulgh wiiduitnudp hwiwwwwnwu- shwiwwywwnwu- hwdwnnwun
juwunn hwywnbip fuwunn hwjwnkip uywpwgpnipintu
1 U/ Quwywubt Ubkpnujw X
Uwutwygh wnwownljws
Uwutwlyhgubtipp

Uwulw wugwuntd Cunpywsd dwutw U (wnwug UUL, hwg.

qpuwnbgnws wtnbnp Ugh wuywiuniip ny lhg ght ( rm?u ) q

1 U/ Gujwubk Ubkjpnujwi X 19,215

Cunpqwsd dwuuwlyght npnobtint Yhpwnywsd swihwuhy' ujwquigniu ghtt wnwowplws dwutiwlhg:

Quithwpwdhu 6: SFudwu wnwplw £ hwunhuwunid uyhnwlwdwdwph dGnppbpnudp.

<pwybiph <pwytiph Uuhwdwuww-
wwhwugubiphu wwhwugubphu nwufuwunijwu
<h Uwulwlgh wijuinup hwiwwwwnwu- shwiwwwwnwu- hwdwnnwn
fuwunn hwywnbp fuwunn hwjwnbip uywpwagpnipjniu
1 U/ Guwyuub Ubkpnujw X
Uwuuwlygh wnwownlwd
Ywutulihgutinh Uwutiwlgh wiywunwp Cunnywd dwubwlhg ght (wnwiug UUZ, hwg.

qpuinbignws wbinbipp

nnwd)

1

U/ Guyuubk Ubkpnujwi

X

24,95

Cunpqwsd dwuuwlyght npnotint Yhpwnywsd swihwuhy' ujwqugniu ghtt wnwowplwé dwutiwlhg:

Quithwpwdht 7: Fudwt wnwplyw £ hwunhuwunud dwjwph dGnppbipnudp.

<pwybph <pwytiph Uuhwdwww-
wwhwugubphu wwhwugubphu nwufuwunipjwu
</ Uutulgh wiiuitnudp hwiwwwwnwu- shwiwwywwnwu- hwdwnnwn
fuwunn hwywnbp juwunn hwjwnbip uywpwgpnipjniu
1 W3 Guywubk Ukjpnujwt X
Uwuuwlygh wnwownlwd
Uwutiwlhgutinh Uwutiwlgh wbywunwp Cunnywd dwubiwlhg ght (wnuwiug UUZ, hwg.

qpwnbignwsd wbinkipp

npwd)

1

U/2 Quyuub Ukpnuju

X

39,9

Cunpqwsd dwuuwyght npnobint Yhpwnqws swihwuh?' ajuqugniu ghtt wnwowipywé dwutiwlhg:

Qwihwpwdht 8: Fudwu wnwplw b hwunhuwunid gnpbiih wyniph dnppbpnudp.

<pwybiph <pwytiph Uuhwdwuww-
wwhwugubiphu wwhuwugubiphu mwufuwuntjwu
<h Uwutiwlgh wljuiinudp hwlwwwwnwu- shwlwwwwnwu- hwdwnnwun
juwunn hwjwnbip fuwunn hwjwnkip uywpwgpnigniu
1 W3 Gujwubk Ubjpnujwt X
Uwutwygh wnwownljwsd
Uwutwlhgutinh Uwubiwlgh wuywunuip Cunpywsd wutwlhg ght (wnwig UUZ, hwg.

qpunbignws wbinbipp

npwd)

1

U/ Guyuuk Ubkpnujw

X

27,9

Cunpwé dwutwlghu npnptint Yhpwnws swihwuhy' uuqugnyu ghtt wnwowplwé Jwutwlhg:

Quithwpwdht 9: Sudwu wnwplw £ hwunhuwund Yupwnndhih dtinpptipnudp.

<h |

Uwutwygh wudwunwip |

<pwybiph

<pwybiph

| Uuhwdwww-




wwhwugubphu
hwiwwwwnwu-
fuwunn hwywnbip

wwhwugubnhu
shwdwwwwnwu-
fuwunn hwjwnkip

nwufuwuntpjwu
hwdwnnwun

uywpwgpnipntu

1 U/ Guyuubt Ubkpnujwt X

2 Wa Gnipgbu Unbthwujut

Unwguwinlynn
wuypwtiputinh® hpwytipny
Uwhiwwnbudwd
nbfuthyuywu
punypwgpbiph
hwdwwwnwufuwuniyewu
Ybpuwptinjwy
hwjiwpwpnigyniup
pwgwluynud £

Uwutwlhgubiph
qpuintignws wbinbkipp

Uwutwygh wugjwunudp

Cuwnpywsd dwutwlyhg

Uwutwygh wnwownlwd

ght (wnwug UUL, hwg.
npwd)

1

W32 Gujwbt Ukjpnyw

X

258,7

Cunpqwsd dwuuwlyght npnobint Yhpwnyws swihwuhy' ujuquigniu ghtt wnwowpywé dwutiwlhg:

Quithwpwdht 10: Sudwu wnwplw £ hwunhuwunud unfuph dGnppbGpnidp.

</h Uwuuwlygh wugwunudp

<pwybiph
wwhwugubiphu
hwiwwwwnwu-
fuwunn hwywnbp

<puwtiph
wwhwugubphu
shwiwwwwnwu-
fuwunn hwjwnbip

Uuhwdwuww-
nwufuwunijwu
hwdwnnun

uywpwagpnipjniu

1 W/ Gujwuk ULjpnujwu X

2 U/Q Gnipgtu Unbthwujw

Unwguwinlynn
wuynwtiptitiph® hpuwytipny
Uwhiwwnbudwd
nbifuthyulwu
punipwgpbipht
hwdwwywnwutuwuniejwu
Ybpwpbipywy
hwjiwpwpnigyniup
pwguwluynud £

Uwutwyhgutiph
qpwnbignwsd wbinkipp

Uwutwygh wudwunuip

Cuwnpywsd dwutwlhg

Uwuuwlygh wnwownlwd

ght (wnwug UUZL, hwg.
nnwd)

1

U/ Guyuuk Ubkpnujw

X

29,9

Cunpqwsd dwutuwlyght npnobint Yhpwnqws swihwuh?' ajuqugni ghtt wnwowipwé dwutiwlhg:

Quithwpwdht 11: Sudwu wnwplw £ hwunhuwunwd unwdph dGnppbpnudp.

</h Uwutwygh wudwunudp

<puwytiph
wwhwugubphu
hwiwwwwnwu-
fuwunn hwywnbp

<pwdbnh
wwhwugubphu
shwiwwywwnwu-
juwunn hwjwnbip

Uuhwdwww-
nwufuwuntpjwu
hwdwnnwn

uywpwgpnipjniu

1 W3 Guywubk Ubkjpnujwt X

2 U/Q Gnipqtu Unbthwujw

Unwguwinlynn
wuypwtiputinh® hpwytipny
Uwhiwwnbudws
nbfuthuljwu
punipwgntipht
hwdwwwnwufuwuniewu
Yapwpbipywy
hwjiwpwpnigyniup
pwguwluynud £

Uwuuwlyhgubipp
qpwnbignwsd wbinkipp

Uwutwygh wudwuntdp

Cunpdwsd dwutwlhg

Uwuuwlygh wnwownlwd

ghtu (wnwug UUL, hwg.
npwd)

1

U/2 Quyuub Ukpnuju

X

89,55

Cunpqwsd dwuuwyght npnobint Yhpwnqws swihwuh?' ajuqugniu ghtt wnwowipywé dwutiwlhg:

Quithwpwdht 12: Sudwt wnwplw £ hwunhuwund guquph dknppbpnidp.

<pwybiph <pwytiph Uuhwdwuww-
wwhwugubiphu wwhuwugubiphu mwufuwuntjwu
<h Uwutiwlgh wljuiinudp hwlwwwwnwu- shwlwwwwnwu- hwdwnnwun
juwunn hwjnbip fuwunn hwjwnkip uywpwgpnigniu
1 W3 Gujwubk Ubjpnujwt X
Unwguwinlynn
wuypwtiptitiph® hpwytipny
2 U/3 Gnipqtu Unbthwuyw X uwhiwnbugwd
nbfuthhulwu
punipwgptipht




hwdwwwwnwufuwuniejwl
Ybpwpbipywy
hwjnwpwpnieiniup
pwgwluynud

Uwutwyhgutiph
qpwnbignwsd wbinkipp

Uwutwygh wugjwunudp

Cuwnpywsd dwutwlyhg

Uwuuwlygh wnwownlwd
ght (wnwug UUL, hwg.
nnwd)

1

U/ Quyuub Ukpnujut

X

37,35

Cunpqwsd dwuuwlyght npnotiint Yhpwnqws swihwuhy' ujuqugni ghtt wnwowiplud dwutiwlhg:

Quithwpwdht 13: Gudwu wnwplw £ hwunhuwunwd 6wlyuntinh dtnppbpnudp.

<pwybiph <pwytiph Uuhwdwuww-
wwhwugubiphu wwhwugubiphu mwufuwuntjwu
< Uwutulgh wiiduitnudp hwiwwwwnwu- shwiwwywwnwu- hwdwnnwun
juwunn hwywnbip fuwunn hwjwnkip uywpwgpnieintu
1 UW/Q Gujwubk Ukjpnujwu X
Uwutwygh wnwownlwd
Uwutiwlhgutinh Uwutiwlgh wbywnwp Cunnywd dwubiwlhg ght (wnwig UUZ, hwg.

qpwnbignuwsd wbinkipp

npwd)

1

U/ Guywub Ukpnuju

X

37,35

Cunpqwsd dwuuwlyght npnobint Yhpwndws swihwuh?' ajuqugni ghtt wnwowipué dwutiwlhg:

Quithwpwdht 14: Sudwu wnwplyw £ hwunhuwund fuwnp Yuuwsne dbnppbipnudp.

<pwybiph <pwytiph Uuhwdwuww-
wwhwusubiphu wwhwugubiphu wufuwuntjwu
<h Uwulwlgh wijuinup hwiwwwwnwu- shwiwwwwnwu- hwdwnnwn
juwunn hwjwinbip fuwunn hwjwnbip uywpwgpniniu
1 U/ Guwjuub Ubkpnujw X
Uwutwygh wnwownljws
Ywutuihgutinh Uwutiwlgh wiywunwp Cuwnnywd dwubwlhg ght (wnwiug UUZ, hwg.

qpuwinbignws wbinbipp

npwd)

1

U/ Guyuuk Ubkpnujwi

X

29,85

Cunpqwsd dwuuwlyght npnotint Yhpwnywsd swihwuhy' ujwqugniu ghtt wnwowplwé dwutiwlhg:

Quithwpwdht 15: Fudwu wnwpYw £ hwunhuwunwd wuws (npne dGnppbpnudp.

<pwybph <pwytiph Uuhwdwww-
wwhwugubiphu wwhuwugubiphu wufuwuntjwu
</ Uutulgh wiiuitnudp hwiwwwwnwu- shwiwwywwnwu- hwdwnnwn
juwunn hwjinbip fuwunn hwjwnbip uywpwgpniniu
1 W3 Guywubk Ubkjpnujwt X
Uwutwygh wnwownljws
Uwutiwlhgutinh Uwutiwlgh wbywunwp Cunnywd dwubiwlhg ght (wnuwiug UUZ, hwg.

qpuinbignws wnbinbipp

npwd)

1

U/3 Guywub Ukpnuju

X

11,96

Cunpqwsd dwuuwlyght npnobint Yhpwnqws swihwuh?' ajuqugni ghtt wnwowipwé dwutiwlhg:

Quwihwpwdht 16: Fudwt wnwpYw £ hwunhuwund hwinhwynp [npne dtinppbpnudp.

<pwybph <pwytiph Uuhwdwww-
wwhwugubphu wwhwugubphu nwufuwunijwu
< Uwtulgh wiiduiunudp hwdwwwwnwu- shwiwwywwnwu- hwdwnnwun
juwunn hwjwnbp juwunn hwjwnbip Uywpwgpnipjniu
1 W3 Gujwuk Ubkjpnujwt X
Uwuuwlygh wnwownlwd
Uwutwyhgutiph

Uwutw wudwuntd Lunpdwsd dwutw U (wnwug UUZ, hwg.

qpwnbignws wbnbnp Ugh wywtinuip ny Uhg ght ( r}n?u n q

1 U/ Quywub Ubkjpnujwi X 7,194

Cunpqws dwuuwlyght npnobint Yhpwnqws swihwuhy' ajuqugniu ghtt wnwowipwé dwutiwlhg:

Quihwpwdht 17: Sudwu wnwplw £ hwunhuwunud nndhyh dGnppbpnudp.

</h Uwutwygh wujwunudp

<puwytiph <pwytinh
wwhwugubphu wwhwugubnhu
hwdwwwwnwu- shwdwuwjwwnwu-

Uuhwdwww-
nwufuwuntpjwu
hwdwnnn




fuwunn hwjwnbip fuwunn hwjwnkip uywpwgpnigniu
1 W3 Gwjwubk Ubjpnujwt X
Uwuuwlygh wnwownlwd
Uwutwyhgutiph
Uwutw wudwuntd Lunnpdwsé dwutw U (wnwug UUL, hwg.
qpwnbignws wbnbnp lgh wtjwtnudp ny lhg ght ( rm?u 0 q
1 U/ Guywub Ubpnujui X 6,965

Cunpqwsd dwuuwlyght npnotiint Yhpwnqws swihwuhy' ujuqugni ghtt wnwowipué dwutiwlhg:

Quithwpwdhu 18: Sudwu wnwplw £ hwunhuwunwd ufunnph dGnppGpnudp.

<pwybiph <pwytiph Uuhwdwuww-
wwhwugubiphu wwhwugubiphu mwufuwuntjwu
<h Uwulwlgh wijuinudp hwiwwwwnwu- shwiwwwwnwu- hwdwnnwun
fuwtnn hwywnbip fuwunn hwjwnbip uwpwagpnipjniu
1 U/ Gujuub Ubkpnujwt X
Uwuuwlygh wnwownlwd
Ywutulihgutinh Uwutiwlgh wiywunwp Cunnywd dwubwlhg ght (wnuiug UUZ, hwg.

qpuwinbignws wbinbipp

nnwd)

1

U/ Guyuuk Ubkpnujw

X

2,997

Cunpqwsd dwuuwlyght npnobtint Yhpwnywsd swihwuhy' ujwquigniu ghtt wnwowplws dwutiwlhg:

Quithwpwdht 19: Gudwu wnwplw £ hwunhuwunwd Jupniugh &dbnppbipnudp.

</h Uwutwygh wudwunudp

<puwytiph
wwhwusubiphu
hwiwwwwnwu-
juwunn hwyjinbip

<pwybnh
wwhwugubiphu
shwiwwywwnwu-
fuwunn hwywnbip

Uuhwdwww-
wufuwuntjwu
hwdwnnun

uywpwgpnipniu

1 U/ Quwywubt Ubkpnujw

X

2 W Gnipgbu Unbthwujut

Unwguwinlynn
wupwputiph® hpwytpny
Uwhiwwnbudws
nbfuthuljwu
punipwgptipht
hwdwwwnwufuwunyewu
Yapwpbipywy
hwjiwpwpnigyniup
pwgwluwynud £

Uwuuwlyhgubtipp
qpuwnbigpwd wbinbnp

Uwutwygh wudwuntdp

Cunnpdwsd dwutwlhg

Uwutwygh wnwownljws
ghtu (wnwug UUL, hwg.
npwd)

1

U/ Qujwub Ubkjpnuywi

X

29,9

Cunpqwsd dwuuwlyght npnotint Yhpwnywsd swihwuhy' ujwqugniu ghtt wnwowplwé dwutiwlhg:

Quithwpwdht 20: Sudwu wnwplw £ hwunhuwunu |njhyh dGnppbpnudp.

</h Uwutwygh wujwunuip

<puwytiph
wwhwugubphu
hwiwwwwnwu-
fuwunn hwywnbp

<pwdbnh
wwhwugubphu
shwiwwywwnwu-
juwunn hwjwnbip

Uuhwdwww-
nwufuwunipjwu
hwdwnnwn

uywpwgpnipjniu

1 W3 Guywubk Ukjpnuywt

X

2 W3 Snipgbt Unbhwiywh

Unwguinlynn
wuypwbiputinh® hpwytipny
Uwhiwwnbudws
nbfuthuljwu
punipwgptipht
hwdwwwnwufuwuniewu
bpwpbipjwy
hwjiwpwpnigyniup
pwguwluynud £

Uwuuwlyhgubipp
qpwnbignwsd wbinkipp

Uwutwygh wujwuntdp

Cunpdwsd dwutwlhg

Uwuuwlygh wnwownlwd
ghtu (wnwug UUL, hwg.
npwd)

1

U/2 Quyuub Ukpnuju

X

59,85

Cunpyws dwuuwyght npnobint Yhpwnqws swihwuh?' ajuqugniu ghtt wnwowpywé dwutiwlhg:

Quithwpwdht 21: Sudwu wnwplw £ hwunhuwund pwngp vwpnbinh dGnppbipnudp.

</h Uwutwygh wujwunudp

<puwytiph <pwytinh
wwhwugubphu wwhwugubnhu
hwdwwwwnwu- shwdwuwjwwnwu-

Uuhwdwww-
nwufuwuntpjwu
hwdwnnn




fuwunn hwjwnbip fuwunn hwjwnkip

uywpwgpnigniu

1 W/ Gujwubk ULjpnujw

X

2 U/a Gnipqtu Unbthwujw

Unwgwnlynn
wuypwtipttinh® hpwytipny
Uwhuwwnbuwsd
nbfuthyuywu
punipwgntipht
hwiwwwwnwufuwunijwl
Ybpwpbipywy
hwjnwpwpnieyniup
pwguwluynud £

Uwutwyhgutiph
qpwnbignwsd wbinkipp

Uwutwygh wujwunudp Cunnpywsd dwutwlhg

Uwuuwlygh wnwownlwd
ghtu (wnwug UUL, hwg.
npwd)

1 U/ Quyuub Ukpnujut X

22,336

Cunpqwsd dwuuwlyght npnotiint Yhpwnqws swihwuhy' ujuqugni ghtt wnwowiplud dwutwlhg:

Quithwpwdht 22: Sudwu wnwplyw & hwunhuwunud udpniyh Enppbipnudp.

</h Uwuuwlygh wugwunudp

<pwytiph <puwtiph
wwhwusubiphu wwhwugubiphu
hwiwwwwnwu- shwiwwwwnwu-
juwunn hwjwinbip fuwunn hwjwnbip

Uuhwdwuww-
wufuwuntjwu
hwdwnnun

uywpwgpniniu

1 U/ Guwyuub Ubkpnujw

X

2 W Gnipgbu Unbthwujut

Unwguwinlynn
wuynwiptitinh® hpwytipny
Uwhiwwnbudwd
nbifuthyulwu
punipwgpbipht
hwdwwywnwutuwuniejwu
Ybpwpbipywy
hwjiwpwpnigyniup
pwgwluynud £

Uwutwyhgutiph
qpuwinbignws wbinbipp

Uwutwygh wudwunuip Cuwnpywsd dwutwlhg

Uwutwygh wnwownljws
ght (wnwug UUZL, hwg.
npwd)

1 U/ Guyuuk Ubkpnujw X

11,94

Cunpywsd dwuuwlyght npnobint Yhpwnyws swihwuhy' ujwqugniu ghtt wnwowplwé dwutiwlhg:

Quithwpwdht 23: Sudwu wnwplw £ hwunhuwunid juudnph Enppbipnudp.

</h Uwutwygh wudwunudp

<puwytiph <pwytinh
wwhwugubiphu wwhuwugubiphu
hwiwwwwnwu- shwiwwywwnwu-
juwunn hwjinbip fuwunn hwjwnbip

Uuhwdwww-
wufuwuntjwu
hwdwnnwn

uywpwgpniniu

1 W3 Gujwubk Ukjpnujwt

X

2 W2 Gnipgku Unbthwujwt

Unwguwinlynn
wuypwtiputinh® hpuwytipny
Uwhiwwnbudws
nbfuthuljwu
punipwgntipht
hwdwwwnwufuwuniewu
Yapwpbipywy
hwjinwpwpnigyniup
pwgwluynud £

Uwuuwlyhgubipp
qpunbignws wbinbipp

Uwutwygh wujwuntdp Cunpdwsd dwutwlhg

Uwutwygh wnwownljwsd
ghtu (wnwug UUL, hwg.
npwd)

1 U/2 Quyuub Ukpnuju X

44,85

Cunpqwsd dwuuwyght npnobint Yhpwnqws swihwuh?' ajuqugniu ghtt wnwowipywé dwutiwlhg:

Quithwpwdhu 24: Sudwu wnwpyw b hwunhuwunu twudh dnppbipnudp.

<pwybph <pwytiph Uuhwdwww-
wwhwugubphu wwhwugubphu nwufuwunijwu
< Uwtulgh wiiduiunudp hwdwwwwnwu- shwiwwywwnwu- hwdwnnwun
juwunn hwjwnbp juwunn hwjwnbip Uywpwgpnipjniu
1 W3 Gujwubk Ubkjpnujwt X
Unwguwinlynn
wuynwbiputinh® hpuwtipny
Uwhiwwnbudwsd
2 U/ Gnipqtu Unbthwuyw X wbutihYwlwi
punipwgntinhl
hwdwwwnwufuwunye)wu
Jepwpbipjwy




hwjinwpwpniegjniup
pwgwluynud

Uwuuwlygh wnwownlwd
Uwutwyhgutiph
Uwutw wudwuntd Lunnpdwsé dwutw U (wnwug UUL, hwg.
qpwnbignws wbnbnp lgh wtjwtnudp ny lhg ght ( rm?u 0 q
1 U/2 Guywub Ubpnuju X 7,98

Cunpqwsd dwuuwyght npnobint hhpwndws swihwuhy' auquignyu ght wnwowpYwsé Jwutiwlhg:

Quithwpwdhu 25: Sudwu wnwplw £ hwunhuwunwd Shpwuh dGnppbpnidp.

</h Uwutwlygh wujwunudp

<pwytiph
wwhwugubiphu
hwiwwwwnwu-
juwunn hwywnbip

<puwtiph
wwhwugubiphu
shwiwwwwnwu-
fuwunn hwjwnkip

Uuhwdwuww-
mwufuwuntjwu
hwdwnnun

uywpwgpnipntu

1 U/ Guwjuub Ubkpnuywt

X

2 W Gnipgbu Unbthwujut

Unwguwinlynn
wuypwiputinh® hpwytipny
Uwhiwwnbudwd
nbfuthyuywu
punipwgpbipht
hwdwwywnwutuwuniejwu
Ybpwpbipywy
hwjiwpwpnigyniup
pwgwluynud £

Uwutwyhgutiph
qpuwinbignws wbinbipp

Uwutwygh wudwunuip

Cuwnpywsd dwutwlhg

Uwutwygh wnwownlws
ght (wnwug UUZL, hwg.
nnwd)

1

W/ Guyuuk Ubkpnujw

X

17,465

Cunpqwsd dwuuwlyght npnotint Yppwnyws swihwuhy' ujuqugniu ghtt wnwowplwé dwutiwlhg:

Quithwpwdht 26: Sudwu wnwplw £ hwunhuwunid Ynwuh dGnppbpnudp.

<pwybph <pwytiph Uuhwdwww-
wwhwusubiphu wwhwugubiphu wufuwuntjwu
</ Uutulgh wiiduitnudp hwiwwywwnwu- shwiwwywwnwu- hwdwnnun
juwunn hwjinbip fuwunn hwjwnbip uywpwgpniniu
1 W3 Gujwubk Ukjpnujwt X
Uwutwygh wnwownljws
Uwutiwlhgutinh Uwutiwlgh wbywunwp Cunnywd dwubiwlhg ght (wnuwiug UUZ, hwg.

qpuinbignws wbinbipp

npwd)

1

W/ Qujwub Ubkjpnuywi

X

2,985

Cunpqwsd dwuuwlyght npnotint Yhpwnywsd swihwuhy' ujwqugniu ghtt wnwowplwé dwutiwlhg:

Quwithwpwdht 27: Sudwu wnwplw b hwunhuwunud pwih dGnppbpnudp.

<pwybph <pwytiph Uuhwdwww-
wwhwugubphu wwhwugubphu nwufuwunipjwu
<h Uwulwlgh wijuinup hwiwwwwnwu- shwiwwywwnwu- hwdwnnwn
fuwunn hwywnbp juwunn hwjwnbip uywpwgpnipjniu
1 W3 Guywubk Ukjpnujwt X
Uwuuwlygh wnwownlwd
Uwutiwlhgutinh Uwutiwlgh wiywunwp Cunnywd dwutiwlhg ght (wnuiug UUZ, hwg.

qpwnbignwsd wbinkipp

npwd)

1

U/2 Quyuub Ukpnuju

X

2,985

Cunpyws dwuuwlyght npnobint Yhpwnqws swihwuh?' ajuqugniu ghtt wnwowipywé dwutiwlhg:

Quithwpwdhu 28: Fudwu wnwplw £ hwunhuwund nbindh &dnppbipnudp.

</h Uwutwygh wujwunuip

<pwybiph
wwhwugubphu
hwlwwwwnwu-
fuwunn hwywnbip

<pwytiph
wwhwugubphu
shwlwwwwnwu-
fuwunn hwjwnbip

Uuhwdwuww-
nwufuwunijwu
hwdwnnun

uywpwgpnipjniu

1 U/ Quyuub Ubkpnujwt

X

2 U/3 Gnipqtu Unbthwuyw

Unwguwnlynn
wuypwptbinh® hpwytpny
Uwhiwwnbudwd
nbifuthulwu
punipwigntinhl
hwdwwwnwufuwuniygjwu
Yepwpbinjwy
hwjiwpwpnigyniup




| pwguwluynud £

Uwutwygh wnwownljwd
Uwutwlhgubtipp
Uwutw wujwunwd Cuwnpywsd dwutiw U (wnwug UUL, hwg.
qpuinbignwd wbnbpp Ugh wtijuunwip ny lhg ght ( qn?u ) q
1 W/ Guyuuk Ubkpnujwi X 7,475

Cunpqwsd dwuuwlyght npnobint Yhpwnyws swihwuhy' ujuquigniu ghtt wnwowpywé dwutiwlhg:

Quithwpwdht 29: Gudwu wnwplw § hwunhuwunid fuwnnnh dGnppbpnidp.

<pwybiph <pwytiph Uuhwdwuww-
wwhwugubiphu wwhwugubiphu mwufuwuntjwu
< Uwutulgh wiiduitnudp hwiwwwwnwu- shwiwwywwnwu- hwdwnnwun
juwunn hwywnbip fuwunn hwjwnkip uywpwgpnipintu
1 UW/Q Gujwubk Ukjpnujwu X
Uwutwygh wnwownlwd
Uwutwlhgubtipp
Uwutw wudwuntd Lunnpdwsé dwutw U (wnwug UUL, hwg.
qpwinbignws wbnbnp lgh wtjwtnudp ny lhg ght ( rm?u p q
1 U/ Guywub Ukpnuju X 7,475
Cunpqwsd dwuuwlyght npnobint hhpwndws swihwuh?' ajuqugni ghtt wnwowipwé dwutwlhg:
Quithwpwdhu 30: Yudwu wnwpyw £ hwunhuwunw pwuwuh dGnppGpnudp.
<pwybiph <pwytiph Uuhwdwuww-
wwhwugubiphu wwhwugubphu nwufuwunijwu
<h Uwulwlgh wijuinup hwiwwwwnwu- shwiwwwwnwu- hwdwnnwn
fuwunn hwywnbp juwunn hwjwnbip uywpwgpnipjniu
1 W/ Gujwuk ULjpnujwu X
Uwuuwlygh wnwownlwd
Uwutwyhgutiph
Uwutw wudwuntd Lunndwé dwutw U (wnwug UUZ, hwg.
qpwnbignws wbnbnp lgh wtiwtnuip ny lhg ght ( rm?u 0 q
1 W/ Quwjwub Ubkjpnujw X 18,981
Cunpqwsd dwuuwlyght npnobint hhpwndws swihwuh?' ajuqugni ghtt wnwowipwé dwutwlhg:
Quithwpwdhu 31: Sudwu wnwplw £ hwunhuwunud uwphuoh dknppbpnidp.
Lpwybiph <pwytiph Uuhwdwuww-
wwhwugubiphu wwhuwugubiphu wufuwuntjwu
<h Uwulwlgh wijuinup hwlwwwwnwu- shwiwwwwnwu- hwdwnnwun
juwunn hwjinbip fuwunn hwjwnbip uywpwgpniniu
1 W/Q Guywub Ubkpnujwu X
Uwutwygh wnwownljws
Uwutwyhgutiph
Uwuuw wudwuntd Cunpywd dwutw U (wnwug UUL, hwg.
qpwnbgnwd wbnting Ugh wuywiunidp ny lhg ght ( rm?u 0 q
1 U/ Guyuuk Ubkpnujw X 11,381
Cunpywsd dwutuwlyght npnotint Yhpwnyws swihwuhy' ujwqugniu ghtt wnwowplwé dwutiwlhg:
Quithwpwdhu 32: Sudwu wnwplw £ hwunhuwunid dwunwphuh dGnppbpnudp.
<pwybph <pwytiph Uuhwdwww-
wwhwugubiphu wwhuwugubiphu mwufuwuntjwu
< Uwutuligh wiujwnuip hwdwwwwnwu- shwiwwywwnwu- hwdwnnwun
juwunn hwjwnbip fuwunn hwjwnkip uywpwgpnigniu
1 W3 Gujwubk Ubjpnujwt X
Uwutwygh wnwownljwsd
Uwuuwlyhgubipp
Uwutw wudwuntd Lunnpdwsd dwutw U (wnwug UUZ, hwg.
qpwinbignws wbnbnp Ugh wtijwunuwip ny Uhg ght ( rm?u 0 q
1 U/Q Gujuub Ubkjpnujwu X 8,531
Cunpqwsd dwutuwlght npnobint Yhpwnyws swihwuhy' uuqugniu ghtt wnwowpywé dwutiwyhg:
Quithwpwdhu 33: Fudwu wnwplyw b hwunhuwund Yhipnuh dGnppbipnudp.
<pwybph <pwytiph Uuhwdwww-
wwhwugubphu wwhwugubnhu nwufuwuntpjwu
<h Uwutiwlgh wijutinup hwiwwwwnwu- shwdwwwwnwu- hwdwnnwun
fuwunn hwjwnbip fuwunn hwjwnkip uywpwgpnipntu
1 U/Q Quywuk Ukjpnujwt X




Uwutwygh wnwownljwd
Uwutwyhgutiph
Uwutw wudwuntd LCunpydwsé dwutw U (wnwug UUL, hwg.
qpwnbignws wbnbnp lgh wtywtinudp ny lhg ght ( rm?u p q
1 U/ Guywub Ubpnujui X 4,378

Cunpqwsd dwuuwlyght npnotiint Yhpwnqws swihwuhy' ujuqugni ghtt wnwowiplud dwutwlhg:

Quwthwpwdhu 34: Fudwu wnwplw § hwunhuwunid wppwjwuwnphugh dGnppbpnidp.

<pwybiph <pwytiph Uuhwdwuww-
wwhwugubiphu wwhuwugubiphu nwufuwuntjwu
<h Uwulwlgh wijuinudp hwiwwwwnwu- shwiwwwwnwu- hwdwnnwun
fuwtnn hwyjwnbp juwunn hwjwnbip uwpwagpnipjniu
1 W/ Gujwubk ULjpnujw X
Uwuuwlygh wnwownlwd
Uwutiwhgutinh Uwutiwlgh wbywunwp Cuwnnywd dwubiwlhg ght (wnwitg UUZ, hwg.

qpwnbignwsd wbinkipp

npwd)

1

U/ Quyuub Ukpnuju

X

5,985

Cunpqwsd dwuuwlyght npnobint hhpwndws swihwuh?' ajuqugni ghtt wnwowipwé dwutwlhg:

Quithwpwdhu 35: Fudwt wnwplyw b hwunhuwunid swdhsh dGnppbpnudp.

<pwybiph <pwytiph Uuhwdwuww-
wwhwusubiphu wwhwugubiphu wufuwuntjwu
<h Uwulwlgh wijuinup hwiwwwwnwu- shwiwwwwnwu- hwdwnnwn
juwunn hwjwinbip fuwunn hwjwnbip uywpwgpniniu
1 U/ Guwywub Ubkpnujwt X
Uwutwygh wnwownljws
Uwutwyhgutiph

Uwulw wugwuntd Cunpywsd dwutw U (wnwug UUL, hwg.

qpwnbgnwd wbnting Ugh wuywunidp ny lhg ght ( rm?u 0 q

1 W/ Swjwub Ubkjpnujw X 3,598

Cunpqwsd dwuuwlyght npnobtint Yhpwnywsd swihwuhy' ujwquigniu ghtt wnwowplws dwutiwlhg:

Quithwpwdht 36: Fudwu wnwplw £ hwunhuwund funipdwgh dGnppbpnidp.
<pwybph <pwytiph Uuhwdwww-
wwhwugubiphu wwhuwugubiphu wufuwuntjwu
</ Uutuilgh wiiuitnudp hwiwwwwnwu- shwiwwywwnwu- hwdwnnwn
juwunn hwjinbip fuwunn hwjwnbip uywpwgpniniu
1 W3 Gujwubk Ukjpnujwt X

Uwutwygh wnwownljws

Uwutiwlhgutinh Uwutiwlgh wbywunwp Cunnywd dwubiwlhg ght (wnwiug UUZ, hwg.

qpuinbignws wbinbipp

npwd)

1

U/ Qujwub Ubkjpnuywi

X

10,788

Cunpqwsd dwuuwlyght npnotint Yhpwnywsd swihwuhy' ujwqugniu ghtt wnwowplwé dwutiwlhg:

Quithwpwdhu 37: Sudwu wnwpyw £ hwunhuwunw tnnwywnp

h duh, nuypnun &bnppbipnuip.

</h Uwutwygh wujwunuip

<puwytiph
wwhuwugubtphu
hwiwwwwnwu-
juwunn hwjwnbp

<pwybph
wwhwugubphu
shwiwwywwnwu-
juwunn hwjwnbip

Uuhwdwww-
nwufuwunijwu
hwdwnnwun

Uywpwgpnipjniu

1 W3 Gujwubk Ubkjpnujwt

X

2 W3 Snipgbt Unbhwiywh

Unwguwinlynn
wuypwtiptitinh® hpuwtipny
Uwhiwwnbudws
nbfuthuljwu
punipwgptipht
hwdwwwunwufuwuniejw
bpwpbipjwy
hwjiwpwpnigyniup
pwguwluynud £

Uwuuwlyhgubipp
qpwnbignwsd wbinkipp

Uwutwygh wujwuntdp

Cunpdwsd dwutwlhg

Uwuuwlygh wnwownlwd
ghtu (wnwug UUL, hwg.
npwd)

1

U/2 Quyuub Ukpnuju

X

54,978

Cunpqwsd dwuuwyght npnobint Yphpwnqws swihwuhy' ujuquigniu ghtt wnwowpyws dwutiwlhg:




Qwihwpwdht 38: Fudwu wnwplyw § hwunhuwunwd tnwywph duh, thwihnty denppbipnudp.
<pwybiph <pwytiph Uuhwdwww-
wwhwugubiphu wwhuwugubiphu nwufuwuntjwu
<h Uwulwlgh wijuinudp hwiwwwwnwu- shwiwwywwnwu- hwdwnnwun
fuwtnn hwyjwnbp juwunn hwjwnbip uywpwagpnipjniu
1 UW/Q Gujwubk Ukjpnujwu
Unwewplynn,
wuypwtiptitinh® hpwytipny
Uwhuwwnbuwsd
nbifuthulwu
2 U/a Gnipqtu Unbthwujw X punyswgnbipht
hwiwwwwnwufuwunijwl
YEnwipbinjwy
hwjwnwpwnpneiniup
pwguwluynud £
Uwuuwlygh wnwownlwd
Uwutiwhgltinh Uwutiwlgh wbywunwp Cuwnnywd dwubiwlhg ght (wnwitg UUZ, hwg.

qpwnbignwsd wbinkipp

npwd)

1

U/2 Guywub Ubpnuju

X

112,166

Cunpqwsd dwuuwlyght npnobint hhpwndws swihwuh?' ajuqugni ghtt wnwowipwé dwutwlhg:

Quithwpwdht 39: Fudwu wnwpyw b hwunhuwunwd hwyh dubinhph dGnppGpnudp.

</h Uwuuwlygh wugwunudp

<pwybiph
wwhwugubiphu
hwiwwwwnwu-
fuwunn hwywnbp

<puwtiph
wwhwugubphu
shwiwwwwnwu-
fuwunn hwjwnbip

Uuhwdwuww-
nwufuwunijwu
hwdwnnun

uywpwagpnipjniu

1 U/ Guwywub Ubkpnujwt

2 U/Q Gnipgtu Unbthwujw

Unwguwinlynn
wuypwbiptitinh® hpwytipny
Uwhiwwnbudwd
nbifuthyulwu
punipwgpbipht
hwdwwwnwufuwunyejwu
Ybpwpbipywy
hwjiwpwpnigyniup
pwgwluynud £

Uwutwyhgutiph
qpuinbignws wbinbipp

Uwutwygh wudjwunuip

Cuwnpywsd dwutwlhg

Uwuuwlygh wnwownlwd
ght (wnwug UUZL, hwg.
nnwd)

1

U/ Guyuuk Ubkpnujwi

X

241,339

Cunpqwsd dwuuwlyght npnotint Yhpwnywsd swihwuhy' ujwqugniu ghtt wnwowplwé dwutiwlhg:

Quithwpwdht 40: Fudwu wnwplyw £ hwunhuwund hwyh Ypdpwduh dEnppbipnidp.

</h Uwutwygh wudwunudp

<puwytiph
wwhwugubiphu
hwiwwwwnwu-
juwunn hwjinbip

<pwdbnh
wwhuwugubiphu
shwiwwywwnwu-
fuwunn hwjwnbip

Uuhwdwww-
wufuwuntjwu
hwdwnnwn

uywpwgpniniu

1 W3 Gujwubk Ukjpnujwt

2 W2 Gnipgbu Unbthwujwu

Unwguwinlynn
wuypwtiputinh® hpuwytipny
Uwhiwwnbudws
nbfuthuljwu
punipwgptipht
hwdwwwnwufuwuniewu
Yapwpbipywy
hwjinwpwpnigyniup
pwgwluynud £

Uwuuwlyhgubipp
qpunbignws wbinbipp

Uwutwygh wujwuntdp

Cunpdwsd dwutwlhg

Uwutwygh wnwownljws
ghtu (wnwug UUL, hwg.
npwd)

1

U/ Qujwub Ubkjpnuywi

X

39,083

Cunpqwsd dwuuwlyght npnotint Yhpwnyws swihwuhy' ujwqugniu ghtt wnwowplwé dwutiwlhg:

Quithwpwdhu 41: Sudwu wnwplyw b hwunhuwund dwlwpnup dEnppbipnudp.

<pwybph <pwytiph Uuhwdwww-
wwhwugubphu wwhwugubphu nwufuwunijwu
< Uwtulgh wiiduiunudp hwidwwwwnwu- shwiwwywwnwu- hwdwnnwun
fuwunn hwjwnbip fuwunn hwjwnkip uywpwgpnipntu
1 W3 Gujwubk Ukpnujwt
2 uwa Q-mnqlitl Uu‘llilhl.utljl.utl X Unwownplynn




wuynwtiputinh® hpuwytipny
Uwhiwwnbudwsd
nbfuthulwu
punipwgntipht

hwdwwwnwufuwuntejwl

Ybpwpbipywy
hwjiwpwpnigyniup

pwgwluynud £

Uwutwyhgutiph
qpuintignws wbinbkipp

Uwutwygh wugjwunudp

Cuwnpywsd dwutwlyhg

Uwutwygh wnwownlwd
ght (wnwug UUL, hwg.
nnwd)

1

W3 Gujwbk Ukjpnuyw

X

19,95

Cunpqwsd dwuuwyght npnobint Yhpwnywsd swihwuhy' uuquigniu ghtt wnwowpywé dwutiwlyhg:

Quithwpwdht 42: Sudwu wnwplw b hwunhuwunud bpdhobih dkinppbipnudp.

</h Uwutwygh wudwunuip

<puwytiph
wwhwugubiphu
hwiwwwwnwu-
juwunn hwywinbip

<pwdbnh
wwhwugubiphu
shwiwwywwnwu-
fuwunn hwjwnkip

Uuhwdwuww-
mwufuwuntjwu
hwdwnnwun

uywpwgpnipntu

1 U/ Quwywub Ukpnujw

X

2 W Gnipgbu Unbthwujut

Unwguwinlynn
wuypwiptitinh® hpwytipny
Uwhiwwnbudws
nbfuthuljwu
punpwgpbiph
hwdwwwnwufuwunyewu
Ybpwptinjwy
hwjiwpwpnigyniup
pwgwluynud £

Uwutwlyhgubtipp
qpuwinbignws wbinbipp

Uwutwygh wudwuntdp

Cunnpdwsd dwutwlhg

Uwutwygh wnwownljws
ght (wnwug UUL, hwg.
npwd)

1

U/ Gujwub Ubkjpnujwi

X

23,94

Cunpqwsd dwuuwlyght npnobtint Yhpwnywsd swihwuhy' ujwquigniu ghtt wnwowplws dwutiwlhg:

Quithwpwdht 43: Fudwu wnwplw § hwunhuwuntd hwiwih dGnppGpnidp.

<pwybph <pwytiph Uuhwdwww-
wwhwugubphu wwhwugubphu nwufuwunipjwu
<h Uwulwlgh wijuinup hwiwwwwnwu- shwiwwywwnwu- hwdwnnwn
fuwunn hwywnbp juwunn hwjwnbip uywpwgpnipjniu
1 W3 Guywubk Ukjpnujwt X
Uwuuwlygh wnwownlwd
Uwutiwlhgutinh Uwutiwlgh wbywunwp Cunnywd dwubiwlhg ght (wnuwiug UUZ, hwg.

qpwnbignwsd wbinkipp

npwd)

1

U/3 Quywub Ukpnujut

X

7,194

Cunpqwsd dwuuwlyght npnobint Yhpwnqws swihwuh?' ajuqugniu ghtt wnwowipwé dwutiwlhg:

Quithwpwdhu 44: Sudwu wnwplw £ hwunhuwunwd Junt dGnppbpnidp.

</h Uwutwygh wujwunuip

<pwybiph
wwhwugubphu
hwlwwwwnwu-
fuwunn hwywnbip

<pwtiph
wwhwugubphu
shwiwwwwnwu-
fuwunn hwjwnbip

Uuhwdwuww-
nwufuwunijwu
hwdwnnun

uywpwgpnipjniu

1 U/ Quyuub Ubkpnujwt

X

2 W3 Snipgbt Unbhwiywh

Unwguwnlynn
wuypwptbinh® hpwytpny
Uwhiwwnbudwd
nbifuthulwu
punipwgntipht
hwdwwwnwufuwuniewu
bpwpbipjwy
hwjiwpwpnigyniup
pwgwluynud £

Uwutwyhgutiph
qpunbignws wbinbipp

Uwutwygh wudwundp

Cuwnpqws dwutwlhg

Uwuuwlygh wnwownlwd
ght (wnwug UUZL, hwg.
nnwd)

1

U/ Guywub Ubpnuju

X

44,955

Cunpwé dwutwlghu npnptint Yhpwnws swihwuhy' uuqugnyu ghtt wnwowplwé Jwutwlhg:




Qwihwpwdht 45: Sudwt wnwplw b hwunhuwund glujwdpwphpubiph dinppbpnidp.

</h

Uwutwlygh wujwunudp

<puwytiph
wwhwugubiphu

<pwybph
wwhuwugubiphu

hwiwwwwnwu-
fuwtnn hwyjwnbp

shwiwwywwnwu-
juwunn hwjwnbip

Uuhwdwww-
nwufuwuntjwu
hwdwnnwun

uwpwagpnipjniu

1 UW/Q Gujwubk Ukjpnujwu

X

2 U/a Gnipqtu Unbthwujw

Unwownlynn
wuypwtiputiph® hpwytipny
Uwhuwwnbuwsd
nbifuthulwu
punipwgptipht
hwiwwwwnwufuwunijwl
Ybpwpbipywy
hwjnwpwpnieyniup
pwguwluynud £

Uwutwyhgutiph
qpwnbignwsd wbinkipp

Uwutwygh wudwuntdp

Cunnpywsd dwutwlhg

Uwuuwlygh wnwownlwd
ghtu (wnwug UUL, hwg.
npwd)

1

U/2 Guywub Ubpnuju

X

40,455

Cunpqwsd dwuuwlyght npnobint hhpwndws swihwuh?' ajuqugni ghtt wnwowipwé dwutwlhg:

Quithwpwdht 46: Fudwt wnwpyw b hwunhuwunud plujwdpwphpubiph dGnppbpnudp.
<pwybiph <pwytiph Uuhwdwuww-
wwhwugubiphu wwhwugubphu nwufuwunijwu
<h Uwulwlgh wijuinup hwiwwwwnwu- shwiwwwwnwu- hwdwnnwn
fuwunn hwywnbp fuwunn hwjwnbip uywpwagpnipjniu
1 U/ Guwywub Ubkpnujwt X
Uwuuwlygh wnwownlwd
Uwutwyhgutiph

Uwulw wugwuntd Cunpywsd dwutw U (wnwug UUL, hwg.

qpwnbgnwd wbnting Ugh wuywiuniip ny lhg ght ( rm?u 0 q

1 W/ Swjwub Ubkjpnujw X 23,382

Cunpywsd dwuuwlyght npnotint Yhpwnywsd swihwuhy' ujuqugniu ghtt wnwowplwé dwutiwlhg:

Quithwpwdht 47: Sudwu wnwpyw b hwunhuwundd whpwuhyh dnppbipnudp.

<pwybph <pwytiph Uuhwdwww-
wwhwugubiphu wwhuwugubiphu wufuwuntjwu
</ Uutulgh wiiuitnudp hwiwwwwnwu- shwiwwywwnwu- hwdwnnwn
juwunn hwjinbip fuwunn hwjwnbip uywpwgpniniu
1 W3 Gujwubk Ukjpnujwt X
Uwutwygh wnwownljws
Uwutiwlhgutinh Uwubiwlgh wuywunuip Cunpywsd twutwlhg ght (wnwig UUZ, hug.

qpuinbignws wbinbipp

npwd)

1

U/ Qujwub Ubkjpnuywi

X

10,782

Cunpqwsd dwuuwlyght npnotint Yhpwnywsd swihwuhy' ujwqugniu ghtt wnwowplwé dwutiwlhg:

Quithwpwdhu 48: Fudwu wnwplyw b hwunhuwund onynjwnh dnppbipnidp.

<pwybph <pwytiph Uuhwdwww-
wwhwugubphu wwhwugubphu nwufuwunijwu
< Uwutuligh wiujwnuip hwdwwwwnwu- shwiwwywwnwu- hwdwnnwun
juwunn hwjwnbp juwunn hwjwnbip Uywpwgpnipjniu
1 W3 Guywubk Ubkjpnuywt X
Uwuuwlygh wnwownlwd
Uwutiwlhgutinh Uwutiwlgh wiywunwp Cunnywd dwutiwlhg ght (wnuiug UUZ, hwg.

qpwnbignwsd wbinkipp

npwd)

1

U/2 Quyuub Ukpnuju

X

41,382

Cunpqwsd dwuuwyght npnobint Yhpwnqws swihwuh?' ajuqugniu ghtt wnwowipywé dwutiwlhg:

Quithwpwdhu 49: Fudwt wnwplyw & hwunhuwund Ywpwdbih dEnppbipnudp.

<pwybiph <pwytiph Uuhwdwuww-
wwhwugubphu wwhwugubphu nwufuwunijwu
<h Uwutulgh wijuinup hwlwwwwnwu- shwiwwwwnwu- hwdwnnwun
juwunn hwjwnbip fuwunn hwjwnkip uywpwgpnipintu
1 UW/Q Gujwub Ukjpnujwu X




Uwutwygh wnwownlwsd
Uwutwyhgutiph
Uwutw wudwuntd LCunpdwsé dwutw U (wnwug UUL, hwg.
qpwnbignwsd wbnbnp lgh wtywtinudp ny lhg ght ( rm?u 0 q
1 U/ Guywub Ubpnujui X 16,788

Cunpqwsd dwuuwlyght npnotiint Yhpwnqws swihwuhy' ujuqugni ghtt wnwowiplud dwutwlhg:

Quithwpwdhtu 50: Fudwt wnwpyw £ hwunhuwund dpquihtu dwpdbjwnh dGnppbipnudp.

<pwybiph <pwytiph Uuhwdwuww-
wwhwugubiphu wwhwugubiphu mwufuwuntjwu
<h Uwulwlgh wijuinudp hwiwwwwnwu- shwiwwwwnwu- hwdwnnwun
juwunn hwywnbip fuwunn hwjwnkip uywpwgpnipntu
1 U/ Guyuubt Ubkpnujwt X
Uwuuwlygh wnwownlwd
Ywutulihgutinh Uwutiwlgh wiywunwp Cunnywd dwubwlhg ght (wnuiug UUZ, hwg.

qpuintignws wbinbkipp

nnwd)

1

W/ Guyuuk Ubkpnujwi

X

23,382

Cunpqwsd dwuuwlyght npnobtint Yhpwnyws swihwuhy' ujuquigniu ghtt wnwowpywé dwutiwlhg:

Qwihwpwdht 51: Sudwt wnwpyw § hwtunhuwunwd dpgquiht dwéniyubiph dnppbpnidp.

<pwybph <pwytiph Uuhwdwww-
wwhwusubiphu wwhwugubiphu wufuwuntjwu
</ Uutulgh wiiduitnudp hwiwwwwnwu- shwiwwywwnwu- hwdwnnun
juwunn hwyjinbip fuwunn hwjwnbip uywpwgpnipniu
1 U/ Quwywubt Ubkpnujw X
Uwutwygh wnwownljws
Uwutiwlhgutinh Uwutiwlgh wbywnwp Cunnywd dwubiwlhg ght (wnuwiug UUZ, hwg.

qpuwinbignws wbinbipp

npwd)

1

U/ Gujwub Ubkjpnujwi

X

55,177

Cunpqwsd dwuuwlyght npnotint Yhpwnyws swihwuhy' ujuquigniu ghtt wnwowplws dwutiwlhg:

Quithwpwdhu 52: Sudwu wnwpyw b hwunhuwunw wpuwynnh dGnppbpnudp.

</h Uwutwygh wudwunudp

<puwytiph
wwhwugubphu
hwiwwwwnwu-
fuwunn hwywnbp

<pwdbnh
wwhwugubphu
shwiwwywwnwu-
juwunn hwjwnbip

Uuhwdwww-
nwufuwunipjwu
hwdwnnwn

uywpwgpnipjniu

1 W3 Guywubk Ukjpnujwt

X

2 U/Q Gnipqtu Unbthwujw

Unwguwinlynn
wuypwtiputinh® hpuwytipny
Uwhiwwnbudws
nbfuthuljwu
punipwgptipht
hwdwwwnwufuwuniejwu
Ybpwpbipywy
hwjiwpwpnigyniup
pwgwluynud £

Uwuuwlyhgubtipp
qpwnbignwsd wbinkipp

Uwutwygh wudwuntdp

Cunnpdwsd dwutwlhg

Uwuuwlygh wnwownlwd
ghtu (wnwug UUL, hwg.
npwd)

1

U/2 Quyuub Ukpnuju

X

47,98

Cunpqwsd dwuuwlyght npnobint Yhpwnqws swihwuhy' ujuqugniyu ghtt wnwowipwé dwutiwlhg:

Quithwpwdhu 53: Fudwt wnwplyw b hwunhuwunid ppywubinh dknppbpnudp.

</h Uwutwygh wujwunuip

<pwybiph
wwhwugubphu
hwlwwwwnwu-
fuwunn hwywnbip

<pwytiph
wwhwugubphu
shwlwwwwnwu-
fuwunn hwjwnbip

Uuhwdwuww-
nwufuwunijwu
hwdwnnun

uywpwgpnipjniu

1 U/ Quyuub Ubkpnujwt

X

2 W3 Snipgbt Unbhwiywh

Unwguwnlynn
wuypwptbinh® hpwytpny
Uwhiwwnbudwd
nbifuthulwu
punipwgntipht
hwdwwwnwufuwuniejwu
Yepwpbinjwy
hwjiwpwpnigyniup
pwguwluynud £




Uwutwygh wnwownlwsd
Uwutwyhgutiph
Uwutw wudwuntd LCunpdwsé dwutw U (wnwug UUL, hwg.
qpwinbignws wbnbnp lgh wtywtinudp ny lhg ght ( rm?u 0 q
1 U/ Guywub Ubpnujui X 9,177

Cunpqwsd dwuuwlyght npnotiint Yhpwnqws swihwuhy' ujuqugni ghtt wnwowiplud dwutwlhg:

Quithwpwdhu 54: Fudwu wnwplw § hwunhuwund Yweh danpptipnudp.

</h Uwutwlygh wujwunudp

<pwytiph
wwhwugubiphu
hwiwwwwnwu-
juwunn hwjwnbip

<puwtiph
wwhwugubiphu
shwiwwwwnwu-
fuwunn hwjwnkip

Uuhwdwuww-
mwufuwuntjwu
hwdwnnun

uywpwgpnipntu

1 U/ Guyuubt Ubkpnujwt

X

2 Wa Gnipgbu Unbthwujut

Unwguwinlynn
wuypwtiputinh® hpwytipny
Uwhiwwnbudwd
nbfuthyuywu
punipwgptipht
hwiwwwwnwufuwunijwl
Ybpwpbipywy
hwjinwpwpnigyniup
pwgwluynud £

Uwutwyhgutiph
qpuwinbignws wbinbipp

Uwutwygh wudwunuip

Cuwnpywsd dwutwlhg

Uwutwygh wnwownljws
ght (wnwug UUZL, hwg.
nnwd)

1

W/ Guyuuk Ubkpnujw

X

6,435

Cunpqwsd dwuuwlyght npnotint Yhpwnyws swihwuhy' ujuquigniu ghtt wnwowplws dwutiwlhg:

Quihwpwdht 55: Sudwu wnwplw b hwunhuwunid junwgpws Yueh dknppbipnudp.

<pwybph <pwytiph Uuhwdwww-
wwhwusubiphu wwhwugubiphu wufuwuntjwu
</ Uutulgh wiiduitnudp hwiwwwwnwu- shwiwwywwnwu- hwdwnnun
juwunn hwyjinbip fuwunn hwjwnbip uywpwgpnipniu
1 U/ Quwywubt Ubkpnujw X
Uwutwygh wnwownljws
UwutwlhgUtinh Uwutiwlgh wbywunwp Cunnywd dwubiwlhg ght (wnuwiug UUZ, hwg.

qpuinbignws wbinbipp

npwd)

1

U/ Qujwub Ubkjpnuywi

X

107,723

Cunpqwsd dwuuwlyght npnotint Yhpwnywsd swihwuhy' ujwqugniu ghtt wnwowplwé dwutiwlhg:

Quithwpwdhu 56: Yudwu wnwplyw £ hwunhuwunu dwdniuh dGnppbpnudp.

</h Uwutwygh wujwunuip

<puwytiph
wwhwugubphu
hwiwwwwnwu-
fuwunn hwywnbp

<pwdbnh
wwhwugubphu
shwiwwywwnwu-
juwunn hwjwnbip

Uuhwdwww-
nwufuwunipjwu
hwdwnnwn

uywpwgpnipjniu

1 W3 Guywubk Ubkjpnujwt

X

2 W3 Snipgbt Unbhwiywh

Unwguwinlynn
wuypwiputiph® hpwytipny
Uwhiwwnbudws
nbfuthuljwu
punipwgptipht
hwdwwwnwufuwuniewu
bpwpbipjwy
hwjiwpwpnigyniup
pwguwluynud £

Uwutwyhgutiph
qpwnbignwsd wbinkipp

Uwutwygh wujwuntdp

Cunpdwsd dwutwlhg

Uwuuwlygh wnwownlwd
ghtu (wnwug UUL, hwg.
npwd)

1

U/2 Quyuub Ukpnuju

X

59,9

Cunpqws dwuuwyght npnobint Yhpwngws swihwuhy' ajwqugniu ghtt wnwowipwé dwutiwlhg:

Quithwpwdhu 57: Sudwu wnwplw £ hwunhuwunwd ywuph dinppbipnudp.

<pwybiph <pwytiph Uuhwdwww-
wwhwugubphu wwhwugubphu nwufuwunijwu
<h Uwutulgh wijuinup hwlwwwwnwu- shwiwwwwnwu- hwdwnnwun
juwunn hwjwnbip fuwunn hwjwnkip uywpwgpnipintu
U/ Quyuub Ubkpnujwt X
Unwgwnlynn
2 UW/a Gnipgbu Unbithwujw X wupuitiplibph’ hpuwidpng




Uwhuwwnbuwd
nbifuthulwu
punipwgntinhl
hwdwwwnwufuwuniewu
Ybpuwptinjwy
hwjiwpwpnigyniup
pwguwluynud £

Uwutwlhgubtipp
qpwnbignwsd wbinkipp

Uwutwygh wujwunuip Cunnpywsd dwutwlhg

Uwutwygh wnwownlwd
ghtu (wnwug UUL, hwg.
npwd)

1 U/2 Guywub Ubpnuju X

69,972

Cunpqwsd dwuuwlyght npnotiint Yhpwnqws swihwuhy' ujuqugni ghtt wnwowiplud dwutwlhg:

Quithwpwdhu 58: Fudwu wnwpyw b hwunhuwunw Yuwpwgh &bnpptipnudp.

</h Uwutwlygh wujwunudp

<pwytiph <pwytinh
wwhwugubiphu wwhuwugubiphu
hwiwwwwnwu- shwiwwwwnwu-
fuwtnn hwyjwnbp juwunn hwjwnbip

Uuhwdwuww-
nwufuwuntjwu
hwdwnnun

uwpwagpnipjniu

1 W/ Gujwub ULjpnujwu

X

2 U/Q Gnipgtu Unbthwujw

Unwguinlynn
wuypwiptitinh® hpwtipny
Uwhiwwnbudwd
ntifuthyuywu
punipwgpbipht
hwdwwywnwutuwuniejwu
Ybpwpbipywy
hwjiwpwpnigyniup
pwguwluynud £

Uwutwyhgutiph
qpwnbignuwsd wbinkipp

Uwutwygh wudwunuip Cuwnpywsd dwutwlhg

Uwuuwlygh wnwownlwd
ght (wnwug UUZL, hwg.
nnwd)

1 U/ Quywub Ukpnujuu X

265,905

Cunpdws dwutuwlhghtu npnotint hhpwnqws swihwuh?' ajuqugni ghtt wnwowipwé dwutwlhg:

Quithwpwdhu 59: Yudwu wnwplyw £ hwunhuwunud wplwdwnyh dbph dnppbipnudp.

</h Uwutwygh wujwunuip

<pwybiph <puwtiph
wwhwugubiphu wwhuwugubiphu
hwlwwwwnwu- shwiwwwwnwu-
juwunn hwjinbip fuwunn hwjwnbip

Uuhwdwuww-
wufuwuntjwu
hwdwnnun

uywpwgpniniu

1 U/ Quwyuub Ubkpnujwt

X

2 W2 Gnipgku Unbthwujwt

Unwguwnlynn
wuypwiuputiph® hpwytpny
Uwhiwwnbudwd
nbifuthulwu
punipwgnbipht
hwdwwwnwufuwuniejwu
Yapwpbipywy
hwjinwpwpnigyniup
pwgwluwynud £

Uwutwyhgutiph
qpuinbignws wbinbipp

Uwutwygh wujwunuip Cuwnpywsd dwutwlhg

Uwutwygh wnwownljws
ght (wnwug UUZL, hwg.
npwd)

1 U/ Guywubk Ubkpnujw X

73,718

Cunpqwsd dwuuwlyght npnotint Yhpwnyws swihwuhy' ujwqugniu ghtt wnwowplwé dwutiwlhg:

Quithwpwdhu 60: Fudwu wnwplw £ hwunhuwunwd swpwpwywgh dinppbpnidp.

<pwybph <pwytiph Uuhwdwww-
wwhwugubiphu wwhuwugubiphu mwufuwuntjwu
< Uwutuligh wiujwnuip hwdwwwwnwu- shwiwwywwnwu- hwdwnnwun
juwunn hwjwnbip fuwunn hwjwnkip uywpwgpnigniu
1 W3 Gujwuk Ubkjpnujwt X
Uwutwygh wnwownljws
Uwuuwlyhgubipp

Uwutw wudwuntd Lunnpdwsd dwutw U (wnwug UUZ, hwg.

qpwinbignws wbnbnp Ugh wtijwunuwip ny Uhg ght ( rm?u 0 q

1 U/ Quywub Ubkjpnujwi X 66,704

Cunpqwsd dwuuwyght npnobint Yhpwnqws swihwuhy' ujwquigniu ghtt wnwowpyws dwutiwlhg:




Qwihwpwdht 61: Fudwt wnwpYw E hwunhuwunwd hwgh dbnppbipnidp.

<pwybiph <pwytiph Uuhwdwww-
wwhwugubiphu wwhuwugubiphu nwufuwuntjwu
<h Uwulwlgh wijuinudp hwiwwywwnwu- shwiwwywwnwu- hwdwnnwun
fuwtnn hwyjwnbp juwunn hwjwnbip uwpwagpnipjniu
1 <<tuyhp 84>> ®PL X
2 U/a Ujpbpwn Stp-Gwjuywi
3 <<UUL 1PU3NrLEN>> UNL
Uwutwygh wnwownlwd
Uwutiwlhgutinh Uwutiwlgh wbywunwp Cuwnnywd dwubiwlhg ght (wnuwiig UUZ, hwg.

/2 Upbpwn Skp-Quiujwiu

qpuintignws wbinbkipp npuwd)
1 <<UUL 52PUSPLEP>> UNE X 384,0
2 <<Tuyhp 84>> PR 4112
3 560,0
Cu

Quithwpwdht 62: Fudwu wnwplw § hwunhuwunid pnyyhubiph dknppbpnudp.

npqwd dwutuwlhghu npnobint Yhpwnqws swihwuhy' ujuqugniu ghtt wnwowpyws dwutiwlhg:

<<twihp 84>> PPL

<pwybph <pwytiph Uuhwdwww-
wwhwusubiphu wwhwugubiphu wufuwuntjwu
</ Uutulgh wiiduitnudp hwiwwwwnwu- shwiwwywwnwu- hwdwnnun
juwunn hwjwinbip fuwunn hwjwnbip uywpwgpniniu
1 <<Twyhp 84>> PPL X
2 U/ Upbpwn Skp-Qwjuywit
3 <<UUL G1RPU3MLEN>> UMC
Uwuuwlygh wnwownlwd
Uwutwyhgutiph
Uwulw wugwuntd Cunpywsd dwutw U (wnwug UUL, hwg.
qpwnbgnwd wbnting Ugh wuywiuniip ny lhg ght ( rm?u 0 q
1 <<UUL 1PU3PLEN>> UMNL X 7,175
2 W/ Uppbipun Sbp-Suwijujwu 8,575
3 8,75
u

Quwihwpwdht 63: Fudwu wnwplyw £ hwunhuwunud phjh dGnppbpnuip.

Cunpdwsd dwutuwlyght npnobint Yhpwndws swihwuhy' ujuqugni ghtt wnwowipwé dwutiwlhg:

Lpwybiph <pwytiph Uuhwdwuww-
wwhwugubphu wwhwugubphu nwufuwunipjwu
<h Uwulwlgh wijuinup hwlwwwwnwu- shwiwwwwnwu- hwdwnnwun
fuwunn hwywnbp fuwunn hwjwnbip uywpwgpnipjniu
1 U/ Quwyuub Ubkpnujwt X
Uwuuwlygh wnwownlwd
Uwutwyhgutiph
Uwuuw wudwuntd Cunpywd dwutw U (wnwug UUL, hwg.
qpwnbignws wbnbnp Ugh wuywiunidp ny lhg ght ( rm?u 0 q
1 U/ Qwjwub Ubkjpnujwi X 55,992
Cunpduwéd dwutwlyght npnptint Yhpwnws swihwuhy' uuqugny ghtt wnwowplwé dwutiwlhg:
Quithwpwdhu 64: Fudwt wnwplyw b hwunhuwund 4h dinppbpnudp.
<pwybiph <pwytiph Uuhwdwuww-
wwhwugubiphu wwhuwugubiphu mwufuwuntjwu
<h Uwutiwlgh wljuiinudp hwlwwwwnwu- shwlwwwwnwu- hwdwnnwun
juwunn hwjnbip fuwunn hwjwnkip uywpwgpnigniu
1 U/ Quyuub Ubkpnujwt X
Uwutwygh wnwownljwsd
Uwuuwlyhgubipp
Uwuuw wudwuntd Cunpywé dwutw U (wnwug UUZ, hwg.
qpwnbgnwd wbinting Ugh wuywunrdp ny lhg ght ( rm?u n q
1 U/ Quywub Ubpnujut X 115,456
Cunpqwsd dwuuwlyght npnotint Yhpwnyws swihwuhy' ujwqugniu ghtt wnwowplwé dwutiwlhg:
Quithwpwdhu 65: Fudwu wnwpyw £ hwunhuwunud nindwwnh dwdnithh dGnppbpnudp.
<pwybph <pwytiph Uuhwdwww-
wwhwugubiphu wwhuwugubiphu nwufuwuntjwu
< Uwtulgh wiiuitnudp hwiwwwwnwu- shwdwwwwnwu- hwdwnnwun
fuwunn hwjwnbip fuwunn hwjwnkip uywpwgpnigniu
1 W/ Quywubk Ukjpnujwt X




2 U/a Gnipqbu Unbthwujw

Unwownlynn
wwpwptbph® hpwytipny
Uwhiwwnbudwd
nbifuthulwu
punypwgpbiph
hwdwwwnwufuwuniyewu
Ybpwpbipywy
hwjinwpwpnieyniup
pwguwluynud £

Uwutwlhgubtipp
qpwnbignwsd wbinkipp

Uwutwygh wudwuntdp

Cunnpywsd dwutwlhg

Uwuuwlygh wnwownlwd
ghtu (wnwug UUL, hwg.
npwd)

1

U/ Guywub Ubpnujui

X

31,465

Cunpqwsd dwuuwlyght npnotiint Yhpwnqws swihwuhy' ujuqugni ghtt wnwowiplud dwutwlhg:

Quithwpwdhu 66: Fudwu wnwplw b hwunhuwunw 9bidh dtinppbpnudp.

</h Uwutwlygh wujwunudp

<pwytiph
wwhwugubiphu
hwiwwwwnwu-
fuwunn hwywnbp

<puwtiph
wwhuwugubiphu
shwiwwwwnwu-
fuwunn hwjwnbip

Uuhwdwuww-
nwufuwuntjwu
hwdwnnun

uywpwagpnipjniu

1 W/ Gujwuk ULjpnujwu

X

2 U/Q Gnipgtu Unbthwujw

Unwownplynn
wwpwuptbph® hpwybpny,
Uwhiwwnbudwd
nbifuthyulwu
punipwagnbiph
hwdwwywnwutuwuniejwu
Ybpuwiptinywy
hwjiwpwpnigyniup
pwguwluynud £

Uwutwyhgutiph
qpwnbignuwsd wbintipp

Uwutwygh wudwunuip

Cuwnpywsd dwutwlhg

Uwuuwlygh wnwownlwd
ght (wnwug UUZL, hwg.
nnwd)

1

U/ Quyuub Ukpnujuu

X

35,976

Cunpqwsd dwuuwlyght npnobtint Yhpwnywsd swihwuhy' ujwquigniu ghtt wnwowplws dwutiwlhg:

Quithwpwdht 67: Fudwu wnwpyw § hwunhuwund Yepwyph wnp dbnppbipnudp.
Lpwybiph <pwytiph Uuhwdwuww-
wwhwugubiphu wwhuwugubiphu wufuwuntjwu
<h Uwutilgh whjuiinudp hwlwwwwnwu- shwiwwwwnwu- hwdwnnwun
juwunn hwjinbip fuwunn hwjwnbip uywpwgpniniu
1 U/ Quwyuub Ubkpnujwt X

Uwutwygh wnwownljws

Uwutiwlhgutinh Uwubiwlgh wuywunuip Cunpywsd Gwubwlhg ght (wnwig UUZ, hug.

qpuinbignws wbinbipp

npwd)

1

U/ Guyuubk Ubkpnujwi

X

12,935

Cunpqwsd dwuuwlyght npnotint Yhpwnywsd swihwuhy' ujwqugniu ghtt wnwowplwé dwutiwlhg:

Qwihwpwdht 68: Fudwt wnwpYw E hwiunhuwtnwd fulwngh thnant dnppbipnidp.
<pwybph <pwytiph Uuhwdwww-
wwhwugubphu wwhwugubphu nwufuwunijwu
< Uwutulgh wijwnuip hwdwwwwnwu- shwiwwywwnwu- hwdwnnwun
juwunn hwjwnbip fuwunn hwjwnkip uywpwgpnigniu
1 W3 Gujwuk Ubkjpnujwt X

Uwutwygh wnwownljwsd

Uwutiwlhgutinh Uwutiwlgh wiywunwp Cunnywd dwutiwlhg ght (wnuwiug UUZ, hwg.

qpwnbignwsd wbinkipp

npwd)

1

U/2 Quyuub Ukpnuju

X

12,648

Cunpqws dwuuwlyght npnobint Yhpwnqws swihwuhy' ajuqugniu ghtt wnwowipwé dwutiwlhg:

Quithwpwdhu 69: Fudwu wnwplw £ hwunhuwunw Ywpdhp wynuwbinh dGnppbipnidp.

<pwybiph <pwytiph Uuhwdwuww-
wwhwugubphu wwhwugubphu nwufuwunipjwu
</ Uwutulgh wiiduitnudp hwdwwwwnwu- shwdwuwjwwnwu- hwdwnnn
fuwunn hwjwnbip fuwunn hwjwnkip uywpwgpnipntu
1 UW/Q Gujwub Ukjpnujwu X




Uwutwygh wnwownljwd
Uwutwyhgutiph
Uwutw wudwuntd LCunpydwsé dwutw U (wnwug UUL, hwg.
qpwnbignws wbnbnp lgh wtywtinudp ny lhg ght ( rm?u p q
1 U/ Guywub Ubpnujut X 1,439

Cunpqwsd dwuuwlyght npnotiint Yhpwnqws swihwuhy' ujuqugni ghtt wnwowiplud dwutwlhg:

Quwithwpwdht 70: SFudwu wnwplw £ hwunhuwunid ul wnwbnh dGnppbpnudp.

<pwybiph <pwytiph Uuhwdwuww-
wwhwugubiphu wwhwugubiphu nwufuwuntjwu
<h Uwulwlgh wijuinudp hwiwwwwnwu- shwiwwwwnwu- hwdwnnwun
fuwtnn hwyjwnbp juwunn hwjwnbip uwpwagpnipjniu
1 W/ Gujwubk ULjpnujw X
Uwuuwlygh wnwownlwd
Uwutwyhgutiph

Uwutw wudwuntd Lunnpdwsé dwutw U (wnwug UUL, hwg.

qpwnbignws wbnbnp lgh wtjwtnudp ny lhg ght ( rm?u 0 q

1 W/ Swjwub Ubkjpnujwi X 1,199

Cunpyws dwuuwlyght npnobint Yhpwnqws swihwuhy' ujuqugni ghtt wnwowipwé dwutiwlhg:

Quithwpwdht 71: Sudwt wnwplyw £ hwunhuwund nwihuwnbplh dGnppbpnudp.

<pwybiph <pwytiph Uuhwdwuww-
wwhwusubiphu wwhwugubiphu wufuwuntjwu
<h Uwulwlgh wijuinup hwiwwwwnwu- shwiwwwwnwu- hwdwnnwn
juwunn hwjwinbip fuwunn hwjwnbip uywpwgpniniu
1 U/ Guwywub Ubkpnujwt X
Uwutwygh wnwownljws
Ywutuihgutinh Uwutiwlgh wiywunwp Cuwnnywd dwubwlhg ght (wnwiug UUZ, hwg.

qpuwinbignws wbinbipp

nnwd)

1

W/ Guyuuk Ubkpnujw

X

0,719

Cunpqwsd dwuuwlyght npnotint Yhpwnyws swihwuhy' ujwquigniu ghtt wnwowpywé dwutiwlhg:

Quithwpwdht 72: Sudwu wnwplw £ hwunhuwund Yhupnuh wnh dGnppbpnudp.
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